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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name : Fluid Mechanics

Subject Code : 2TEO3FMS1

Semester : 3 Date : 20/03/2018 Time : 02:30 To 05:30 Marks : 70

Branch: Diploma (Mechanical)

Instructions:

(1)
(2)
(3)
(4)

Use of Programmable calculator & any other electronic instrument is prohibited.
Instructions written on main answer book are strictly to be obeyed.

Draw neat diagrams and figures (if necessary) at right places.

Assume suitable data if needed.

f)

9)

h)

Attempt the following questions:

A study of fluid in motion is known as

A) Fluid statics B) Fluid dynamics  C) Fluid D) None
Kinematics
Unit of viscosity in CGS system is
A) pascal B) Poise C) Stoke D) bar
According to Archimede's principle, if a body is immersed partially or fully in a
fluid then the buoyancy force is the weight of fluid displaced by the body.
A) equal to B) less than C) more than D) unpredictable
What is the correct formula for absolute pressure?
A) Paps = Patm — B) Pabs = Pvacuum — C) Pabs = Pvacuum + D) Pabs = Patm*
Pgauge I:)atm I:)atm Pgauge
Unit of kinematic viscosity in CGS system is
A) Stoke B) Poise C) pascal D) bar
Bulk modulus is the ratio of
A) shear stress to B) volumetric C) compressive D) volumetric
volumetric strain strain to shear stress to strain to
stress volumetric strain compressive stress
Which of the following is a dimensionless equation?
A) Reynold's B) Euler's equation C) Weber's D) All of the above
equation equation
Negative pressure calles as....
A) Atmospheric B) Gauge pressure  C) vacuum D) None
pressure pressure
Viscous forces are not present in
A) rotational flow  B) irrotational flow C) laminar flow D) none of the
above
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What is an ideal fluid?
A) A fluid which B) A fluid whichis C) A fluid which D) All of the above
has no viscosity incompressible has no surface
tension
pressure head="?
A) pgh B) mgZ C) 0.5mv? D) None
Velocity of flow remains constant at every point is known as....
A) Steady flow B) Uniform flow C) Compressible D) None

flow
When flow rate is varying then the type of flow is........
A) Steady flow B) unsteady flow C) uniform flow D) viscous flow
Unit of flow rate is
A) m*/sec B) m*/sec C) m/sec D) m/sec?

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-6

[HEN

[EEN

Attempt all questions

Explain Newton’s law of viscosity with neat and clean figure.

Define absolute pressure, gauge pressure and vacuum pressure. Also plot relations
between them.

Attempt all questions
Explain piezometer for pressure measurement with neat sketch.
Write a short note on different form of energy.

Attempt all questions

Derive Bernouli’s theorem. Give introduction of different step of Bernouli’s
equation.

Water flows with pressure of 400 KPa from pipe of 200 mm diameter at a rate of 2.0
liters / second. If the pipe height is a 100 mm from the datum. then find total energy
head.

Attempt all questions

Explain working principle of Pitot tube with neat sketch & derive equation for
velocity.

Oil flows from pipe AB, whose special density is 0.9. The diameter of the pipe at A
is 25 cm and the velocity of oil on this end is 3 m/ s. If the diameter of the pipe is
gradually decreasing to 20 cm at point B by the end then find the velocity and mass
flow rate of oil.

Attempt all questions

List types of flow measuring devices. Explain principle of operation and working of
Orifice meter.

List down types of notches and weirs. Explain any one in brief.
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Q-7

Q-8

Q-1

f)

9)

h)

Attempt all questions
Explain working principle of Centrifugal pump with neat fig.
Explain working principle of Hydraulic Intensifier with neat fig.

Attempt all questions
Explain working principle of Hydraulic Ram with neat fig.
Explain working principle of Hydraulic Press with neat fig.

1ol

Attempt the following questions:

aAdcl Yctéloll weud sl vt AeA....
A) 5485 w2lsU B) $485S SlAaPsd  C) ¥q4efs slFaARdlst D) As Ul «il@
CGS Ug[QHl Ralotudlall AsH 52 B?

A) URSA B) WU (Poise) C) 2|5 (Stoke) D) &R
B30l Rgict Yoo, % 518 ueledl wilds A uaal Aygiudl yaudldi goll o2 & A
Aoj cdellet UeLd gl WASIAAL Yeuglatl aosstell ....... &3l

A) ARy B) A& C) ay D) 58l ot asl2

(AR08t gLl HZe] Yo 53 B?

A) Pass = Pam—Pgauge~ B) Pans = Pracuum — Pam~ C) Pans = Puacuum + Patm D) Pabs = Patm* Pauge
CGS UglQHi slANZls Raloudloll AWsH 52 B?

A) 28 (Stoke) B) W& (Poise) C) URsA D) GIR

wes MSYAU A lloll A B2

A) 2R R uaA B) AcARs ot  C) 51YRc U ol D) ARARS ReSol
ARARS RFol ua 2R AU ARARS RSl A s1YRA AU

volumetric strain

ol Aol 53 wulHela uHlsal &2

A) Rellesa] ulsw@ B) Yo uHls@l C) AuRg] qMlsw D) GURall clHIH
QL (Negative) EGURLA 9 s&cll ©?
A) AlAlARBle] €GBl B) A% EGIQL C) [Aald(vacuum) D) As ULl @
gollal
Page3 || 5

e

\l

(14)



1) Viscous (ol AHL &l o2l ?
A) A2l Yals B) SA22eld Yals  C) cll{lollk yas D) As ULl @

D) wed yadl g 82

A) yalgl 3 ¥ B) ucldl ¥ % C) U8l 3 B yudl D) GURell AHIM

Ralotcl o1l welHld & URell dulted otell
K) eoug o0y =

A) pgh B) mgZ C) 0.5mv D) s Ul ol
) & yaleni €35 ald Aol AUAA A Al ARX 520 Yclls 53 B?

A) RAR yale B) QM@ yeus C) ueloelld yaus D) As ULl o3
M) yclgotl A 2HL GEAL Bl 52 A Yallgal 52 Yclls 53 D?

A) RAR Yol B) wURAR yalls C) RaRd yas D) [Qsd yals
n) sl 2ol AsH s2A B?

A) m*/sec B) m%/sec C) m/sec D) m/sec?

Y-2 ol y-¢ Hill 8168wl AR Ysllell wcllol AL,

Q-2 ol Aett Yslloll cltol .
o3J2otoll RAMULALA [Aan et (A €131 Ul
(A20eL eollal, Ao eollll wa [Rald (Asyu) eollalell catvaul AUl Auetl A Uoiy
U 2.

Q-3 ol Aotl Yol cllol .
golgl Hiual Hize] UloAlleR ez augl €131 uuenal.
Gofell [QlAu 23Ul (AN gsellu cuil.

Q-4 o{lAell Ysllell cllol AL,
Hollclloll [ dRal. Axey collclloll Yololl €35 UES(l UMy .
wll 2.0 dle/Assell €24l 200 HlM{l cetaton wuHil ¥00 kpa ot ol ad 8.
weuell Que 3exell 100 mm 8l Al wllell get wEA wac N (Total Energy or Head)
AUE dret widl dl.

Q-5 o{l Aol Yslloll oscllol B,
1 Ulele 2yotoll stlRsict 2et2e agld €13l Al ua Adle] YA AR,
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Q-6

Wy AB HiYl A ad B Boll QAL uoldl 0.¢ B, WUl BSL A oll UM WU cm B
ol AL BSL BUR AWSAHoA A 3 m/s B, WUl A 5HIL: Udlal BSL B WA 0 cm Al
B dl Bsl B WA ATl Aol WL AU MBEoll w2l €2 (Mass Flow Rate) 20t

o{lAetl Yslloll cllol AL,
sclloll Wugll sRclloll Aalle] clre olottcll. WNRFU Hl26ll Rttlid wa stiugld Al
Al Al [QauRetl YSRL cull. 818 uRl As Qe UMl

oflAotl Ysllotl aliol WL
Aoglegolet Uuell augld €71 Aol stlRetid dumal.
aleflells Bo2orllglarell igld €131 Aol siRLtid Amesal.

oflAeil Yslloll waltol L,
slBclls el sl 13 Aol stdR@euict Amestal.
atsglells Yateofl gl €171 Aoll stiRtuid umendl.
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